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B.Sc. I Sem. ATKT Examination(Assignment) 2021

Subject : Mathematics ,
Matrix Theory, Calculus & Geometry

MM: 25

Note: Attempt all questions.
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Xty+z=6, X-y+z=2, 2x+y-z=1

Solve the following equations using Matrix method:

Xty+z=6, X-y+z=2, 2x+y-z=1
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Evaluate: n/2
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3. quIfsy & amegg

1 0 2
A=[O 2 1]
2 0 3
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Show that matrix

1 0 2
A = [0 2 1 ]
2 0 3
verify Caley Hamilton theorem. Using the theorem, also find A™,

4.7 x + 1/x = 2Cos0 it Rig B 5 x" + 1/x"=2Cosnf @I X" - 1/x" =2iSinno
If x+ 1/x=2Cos6, then prove that X"+ 1/x"=2Cosn9 and x”- 1/x" =2iSinno
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State and prove Rolle's theorem.



